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The figures in the margin indicate full marks
for the questions.

Q. No. 1 & Q. No. 2 carry 1 mark each 1x8 & 8
Q. No. 3 (a to j) carries 2 marks each . ' 2x10 = 20
Q. No. 4 (a to k) carries 3 marks each (any nine) 3x9 = 27
Q. No. 5 (a to d) carries 5 marks each (any three) 5x3 = 15

Total = 70
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1. Choose the correct answer from the four alternatives given be.IOW‘ . (c)
: . @
1x4=4

Which one of the following scholars introduced the concept of Human

Development ? 1

weTo il pifF R e o o el <ift B :
- ' e Ren e[ (@eE a9 [em gi9a 2Rbfs e

(@) In which of the following continents the growth rate of population is

‘highest ? '
1 (i) Prof. Amartya Sen
T (I TR TR s 9 (5 2 : | oy
: iy (R PLIS IO
(1)  Europe : ;
SR , ! (i) Ellen C. Semple
(i) Africa : T . B
m ‘ ! | (iii) Dr. Mahabub-ul-Haq
(iii) South America T NLTA IR
wfEEe S |
i X (iv) Ratzel
(iv) Asi g : : 2
folge . Siinec]
IR ‘
(b)  Which one of the following figures represents the workine age (d) India’s population as per 2011 ce/nsus is — 1
of the population ? SEoetoup 305S 59 (FIGEEE SR SReTds TRl T8 —
1
RS (e A TR F =T bire <Rm: (i) 1028 million
(i) 15 to 66 years So3v ﬁ'{\")
¢ 9 ¥ LY I
L ' (i) 3287 million
(i) 15 to 65 years ©3ra [T
3¢J 7|1 ve 9
(i) 18 to 64 years ‘ (iii) 3182 million
SbF S ug 951 OS5 R [ﬁ?g\ﬁ

(iv) 15 to 59 years (iv) 1210 million

5¢T 77 e» T/ 5350 e
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2.  Answer very briefly : ‘ 1x4=4
SIS BICF Te &1 ¢

(@ In how many categories the urban centres have been classified by
census of India ? 1

CRTS. GG TN TS (R0 Slie [ew F9i targ?

(b)) In India, in between which months in English calender the Kharif
crops have been cultivated ? 1

SiReEe AT > cﬂ%?ﬁmmﬂmmwﬁ?

(c) Which type of energy sources are called sustainable energy sources ?

& w5oix *fe TR @R *If@ O 3 o = ;
(d) What is agro-based industries ? 1
Freies Sl 2
3.  Answer in brief : 2%10=20
53 e fral ¢
(@) Write two hill districts of Assam. 5

SRR 73 AR et A e |

(b) Which two places were connected by the first railway line in Indig 7

2
GO (A 737 9T, CAMALG (1 ATAC FCo! 31 T 0
(c) Give two examples of non-metalic minerals. 5

siei Affe smida 7or T |
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(d)

Name fwo Iron and Steel plants in India set up during the Second

Five-Year Plan period. 2

FroR i R Fere wives S @R 701 - Tl 1
ferall|

Name two major industrial regions of India. D

(e)
SlRead bl Y ST Szess A o
()  Which two places of India are connected by the National Waterways
No. 2 ? 2
SEed SR AEE T (@ 73 I8 A DECR?
(g9 Name fwo major sea ports located in western coast of the Bay of
: Bengal. 2
A 2o SoETe RS 70! I3 HE W 1 &9
(h) Mention two main sources of air pollution. o)
g vEeR 70! T O T < |
(i) Name fwo primary economic activities. 2
pfa elifi wdeTes gien A |
() Name fwo animal-based industries. 2
ToEeTen SRS 719y Srmiei e |
4 Answer the following questions in about 100 words : (any nine)
| 3x9=27
o Tl e 2ol Teg soobl *d oot fr ¢ (Ricwiean «151)
(1) What do you understand by Planned Settlement ? 3
siReEe Tt JEE & g@ne
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- (b)

(c)

(d)

(e)

®

(h)

(i)

0

(k)
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Explain the importance of Rural-Urban population composition. 3.

SisT=si9 T SiidfFs @%g i < |

Write the advantages and disadvantages of Air Transport System.

2 5)
ol AR AR S SRR B |
Write the importance of Iron and Steel iﬁdustries. ; 3
T Wi SR TER GFPTR |
Discuss the problems of water resources in India. ‘ 3

CITO] SEAME FRPYPTR DA B |
What do you understand by non-conventional energy sources ? 3
SRS e SoPTR IFET 9@
What do you understand by Mass Communication System ? 3

AR @eicain safe e (& @

Mention the favourable geographical conditions found in Assam for

jute cultivation. - 3

TS TG (4feq i A ST (ST SREPE S = |

Write the main characteristics of climatic seasons of Assam. 3

ST SERERE AeAEs I @HEETE |

Write a note on the tea industry of Assam. 3

SPTIE B2 TrE @sige @5l (Gl 5

Write the characteristics of the alluvial soils of Assam. e

SPTE oel Wibe tafEEEE F |
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Answer the following questions : (any three) 5x3=15

e Al espred s il 8 (R o)

()

(b)

(c).

(d)
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Explain the characteristics of the four pillars of human development.

—

5
S e B0 TE IREPRR iRl |

Expla'in the geographical factors influencing the distribution of
population. : 5

SRl ReRIS AR (AT (STCANfers SRR =01 31 |

What do you understand by tourism industry ? Discuss the factors
affecting tourism industry. i 243=5
oo T TR 8 @ 2 A TS 2SR R < <R S
Bl

Draw an outline map of India and mark the location of the following
therein : ) 2+3=5
e AR (TSI @2 Mg s i Wi OIS wero IR g

m‘?i\'ﬂ%i'f :

() Asea port in the west coast
S{fR5H THTTO U bl RIS

(i) A petroleum refinery | :

<51 S (S NS

(iii) An iron and steel plant.

a5l GO Ol T |




